a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

G(0 X) (um)

Ratio

=
o
W

10°E

a(0 x) tor merged vertices (um)

Ratio

=
o
w

10°F

Pk
[N

10°E

10F

0.9F----r-mneabees
Al E___. ;
0 15 20 < 080=15=10
rtex z (cm) Vertex z (cm)
— _TTU‘; trea
p——— —11—neEw 4
= s,
T £ £
: : = =
3=
B ] 107k
=2 2 [
[5) = [
> -
o A
3]
2 A - A AL | S S
(4]
1S
S 10?
=
°
[S)

o
©

.
AL LU L L

] e e N
4 . |

[N A
o=

NI
o

[
(&)1

Vertex z (cm)

10%|

+10

0 15 20
Vertex z (cm)

Ratio

0(0 z) (M)

Ratio

Vertex z (cm)

=
o
W

10?

10 15 20
Vertex z (cm)

Ratio

0(0 z) tor merged vertices (Um)

Ratio

10°E

10%

[
N
ALY LU LA L

Vertex z (cm)



	Contents
	Page 1


